MENNENS 0.

Nipple

Product information

Nipple, all items suitable for high pressure hydraulics 700bar. Assembly materials for your Holmatro hydraulic system




Part code

16.41HOL100181151

16.41HOL100181156

16.41HOL100581101

16.41HOL100581211

16.41HOL100581226

16.41HOL100581239

16.41HOL110013004

16.41HOL110013005

16.41HOL110013044

16.41HOL150581087

16.41HOL150581088

16.41HOL150581216

16.41HOL150581218

16.41HOL150581227

16.41HOL150581244

thread A

3/8" NPT

2" BSP

3/8” NPT

Y.’ BSP

v NPT

v’ NPT

1/8" NPT

V2" BSP

Y, BSP

2" BSP

" BSP

&' BSP

vy BSP

Y& NPT

v NPT

thread B

M14 x 2

M14 x 2

3/8” NPT

M14 x 1.5

M14 x 1.5

v’ NPT

3/8" NPT

M10x 1

M12 x 1.75

3/8"NPT

¥" NPT

Y&’ BSP

3/8" NPT

Y," BSP

3/8” NPT

3/8” NPT

Y4 BSP

3/8" NPT

Vi’ BSP

Ya" NPT

v NPT

1/8" NPT

Y4 BSP

Vi’ BSP

%" BSP

¥2" BSP

v, BSP

;" BSP

Y& NPT

Ya" NPT

M14 x 2

M14 x 2

3/8" NPT

M14 x 1.5

M14 x 1.5

v NPT

3/8" NPT

M10x 1

M12 x 1.75

3/8"NPT

v’ NPT

V4" BSP

3/8" NPT

v, BSP

3/8" NPT



Blueprint




	Nipple
	Blueprint


